Original Article Inhibition of BAG3 enhances the anticancer effect of shikonin in hepatocellular carcinoma

Jie Lu^{1*}, Shuang-Yu Liu^{1*}, Jing Zhang^{3*}, Guang-Ming Yang¹, Gui-Bin Gao³, Nan-Nan Yu³, Yan-Ping Li¹, Yi-Xiang Li⁴, Zhong-Qi Ma⁴, Yang Wang³, Chun-Hua Lu²

¹Department of Bioengineering, College of Life Science and Technology, Guangxi University, Nanning 530004, Guangxi, China; ²Research Laboratory of Zhuang & Yao Medicine, Guangxi International Zhuang Medicine Hospital Affiliated to Guangxi University of Chinese Medicine, Nanning 530201, Guangxi, China; ³MOE Key Laboratory of Tumor Molecular Biology and Key Laboratory of Functional Protein Research of Guangdong Higher Education Institutes, Institute of Life and Health Engineering, College of Life Science and Technology, Jinan University, Guangzhou 510632, China; ⁴Medical College of Guangxi University, Nanning 530004, Guangxi, China. ^{*}Equal contributors.

Received September 18, 2020; Accepted February 22, 2021; Epub July 15, 2021; Published July 30, 2021

Abstract: Human hepatocellular carcinoma (HCC) is the most frequent cancer worldwide with a poor prognosis. Tumor-specific pyruvate kinase M2 (PKM2) is essential for cancer metabolism and tumorigenesis. Shikonin, a specific inhibitor of PKM2, but not PKM1, exhibits significant anticancer effect in HCC, and was deemed as a promising drug for cancer therapy. However, shikonin-mediated bypass signaling in HCC remained unclear. Here, we performed forward/reverse stable isotope labeling with amino acids in cell culture (SILAC)-based proteomics to identify the early molecular events controlled by shikonin. We demonstrated for the first time that shikonin could induce the nuclear translocation of PKM2 for recruiting Nrf2, and transcriptionally activated Nrf2 downstream target gene BAG3, therefore increasing protective effect to sustain cell survival. Knockdown of BAG3 by si-RNA significantly potentiated the anticancer effect of shikonin. These findings provided the first evidence of a new noncanonical function of inhibited PKM2 could act as a transcriptional coactivator of Nrf2 in cancer survival, highlight that shikonin in combined with BAG3 inhibitor could be a promising therapeutic strategy for HCC therapy.

Keywords: Shikonin, PKM2, Nrf2, BAG3, human hepatocellular carcinoma

Introduction

Hepatocellular carcinoma (HCC) accounts for the most frequently occurring type of cancer in the world [1], its incidences and mortalities are steadily elevating and ranked sixth for cancer, as a result of chronic hepatitis virus infections and steatohepatitis caused by adiposity [2]. Chemotherapy remains the key approach for the treatment of HCC, some multikinase inhibitors, such as sorafenib, have been approved as the first-line targeted therapy for advanced HCC [3], however, the current chemotherapeutic agents remain unable to achieve a satisfactory effect on late phase HCC patients in clinic. Thus, it is an urgent need to investigate effective anticancer agents for HCC clinical therapy.

Pyruvate kinase was recognized as the final rate-limiting enzyme of cellular glycolysis, and

its expression is dramatically increased in multiple tumor cells [4]. Different from PKM1, PKM2 is a key modulator in regulating the cancer metabolism by increasing glucose uptake and lactate production. More importantly, PKM2 was reported to be a transcriptional coactivator to promote the gene transcription in cancer cells, and therefore be considered to be a potential target to suppress the growth of tumor. Since PKMs are critical kinase that indispensable for normal physiological metabolism. many strategies to decrease PKM2 expression like using si-RNA or CRISP/Cas9 [5], are toxicity for normal tissue, which are not suitable for clinical cancer therapy. Therefore, identification of a new drug that inhibits PKM2 activity would be clinically meaningful.

Shikonin, a naphthoquinone that extracted from comfrey, was recently reported to be a

specific inhibitor to PKM2, rather than PKM1 [6], and exhibited significant anticancer effect on cancer [7]. A study showed that shikonin could induce endometrioid endometrial cell apoptosis by controlling mTOR signaling [8]. In non-small cell lung cancer, shikonin stimulation could induce necroptosis and autophagy [9]. Current studies demonstrated that shikonin was employed as chemosensitizer to potentiate the anticancer effect of traditional chemotherapeutic agents of HCC, such as arsenic trioxide [10], doxorubicin and cisplatin [11]. These results suggested that shikonin that inhibiting PKM2 activity can achieve significant anticancer effect in multiple cancers, therefore, identification of the underling mechanism of action is critical needed for preclinical investigation of shikonin.

It has caught interest to investigate what proteins or bypass signaling pathways can be controlled by shikonin, which warrants proteome level study [12]. SILAC-based mass spectrometry is an effective technology to comprehensively quantify protein change in cell [13, 14]. Advanced forward/reverse labelling strategy could significantly improve the accuracy of quantitation. In this study, our forward/reverse SILAC-proteomics and a series of experimental confirmation demonstrate that protective Nrf2-BAG3 signaling was upregulation in response to shikonin stimulation in HCC cells, suggesting BAG3 inhibition in combined with shikonin could be a novel therapeutic strategy against HCC.

Material and methods

Cell lines and reagents

Human hepatocellular carcinoma cell lines SMMC-7721 and HepG2 were obtained from Cell Bank, Chinese Academy of Sciences (Shanghai, China). Cells were routinely cultured in Dulbecco's Modified Eagle Medium (DMEM) purchased from Gibco (NY, USA) containing 10% fetal bovine serum (FBS, Gibco, NY, USA) and 1% Penicillin/Streptomycin mixture (Solarbio, Beijing, China) at 37°C in 5% CO₂ atmosphere. Shikonin with purity above 98% was purchased from Topscience (Shanghai, China) and was dissolved in DMEM. Antibodies against PARP (full and cleaved form), caspase3 (full and cleaved form), Bax, BCL-2, BAG3, Nrf2 and GAPDH were purchased from Proteintech Group (Wuhan, China), P62/SQSTM1 was purchased from Santa Cruz biotechnology (MA, USA). PKM2 was purchased from Cell Signaling Technology (Cell Signaling Technology, MA, USA).

Cell viability assay and cell morphology detection

Cell viability was evaluated by performing the cell counting kit 8 (CCK-8, Beyotime, Shanghai, China) assay. SMMC-7721 and HepG2 cells seeded in 96-well plates at a density of 4×10^3 cells/well respectively, were incubated with increasing dosages (0-10 μ M) of shikonin for 12, 24, 36 and 48 h. After incubation, CCK-8 was added to the wells for another 1 hour. Finally, the absorbance for each sample was measured in a microplate reader (Tecan, Switzerland) at 450 nm. In addition, inverted microscope (DMi8, Leica, Germany) can be used to observe changes in cell morphology at different concentrations.

Colony formation

An amount of 5×10^3 SMMC-7721 and HepG2 cells seeded in 6-well plates respectively were incubated with shikonin at a concentration of 0, 1, 3 and 6 μ M for about 7 days. Subsequently, all cell colonies in plates were fixed with ethanol for 5 min and stained with 1% crystal violet for another 5 min. The areas of cell colonies were counted by photoshop, and the statistical data were obtained from three independent experiments [15].

Detection of apoptosis by flow cytometry

For the detection of apoptotic cells, 2×10^5 SMMC-7721 and HepG2 cells seeded in 6-well plates respectively were incubated with increasing concentration (0, 2, 4, 8 µM) of shikonin for 24 hours. All cells were harvested and washed twice with PBS, $5-10 \times 10^4$ cells were dissolved in 500 µL binding buffer, where 5 µL Annexin V FITC and Propidium Iodide (PI) (Bevotime biotechnology, Shanghai, China) added respectively, and incubated together for 15 min in the dark. The apoptotic cells were analysis via C6 flow cytometer (BD Biosciences, San Diego, CA, USA), and the data obtained was further analyzed quantitatively by using FlowJo software (Version 7.6.5). In the statistical analysis, cell populations in the Q2 and Q3 quadrant (Annexin V+) was considered as apoptosis cells.

Cell cycle analysis

Both HCC cells were respectively seeded into the plates with a density of 2×10⁵ and cultured overnight. Then, the cells were incubated with different concentration (0, 2, 4, 8 µM) of shikonin. Cells were harvested via centrifugation (1500 g, 10 min) and wash with PBS twice, which was fixed in cold 70% ethanol at 4°C for 24 h. Subsequently, the cells were collected in cold PBS. Before detection, all cells were incubated with prepared propidium iodide staining mixture solution containing 500 µL staining buffer, 25 µL propidium iodide staining solution and 50 µL Rnase A (Beyotime biotechnology, Shanghai, China) in the dark at 37°C for 30 min. In the end, the samples were analyzed using C6 flow cytometer (BD Biosciences, San Diego, CA, USA), and the cycle phase were furthered analyzed via Modifit software.

Western blot analysis

After designed treatment completed, the proteins of both HCC cells were extracted via RIPA lysis buffer (CST), and the concentration of each sample was determined by Bradford assay reagent (GeneCopeia, MD, USA). Equal amounts of protein lysates were electrophoresed by 10% or 12% SDS-PAGE and then transferred to polyvinylidine fluoride (PVDF) membranes (Bio-Rad, CA, USA). The PVDF membranes were blocked with 5% fresh nonfat milk for 2 h and incubated with indicated primary antibodies at 4°C overnight, followed by incubation with corresponding secondary antibodies for 1.5 h at room temperature. Ultimately, blot bands were visualized via BeyoECL Plus reagent (Beyotime biotechnology, Shanghai, China).

SILAC labeling and protein extraction

HepG2 cells were selected for proteomics analysis. First of all, HepG2 cells (2×10^5) were seeded in petri dish and cultured with ${}^{12}C_6$ (light)/ ${}^{13}C_6$ (heavy) isotope labeled lysine (Lys) SILAC DMEM medium respectively. After about six subcultures, HepG2 cells stably labeled with corresponding amino acids were obtained. When the cell density reached the appropriate

density, shikonin was added in the experimental group, and the group without shikonin was set as a control. Here, we set positive and negative labeling repeat which including two groups. In detail, in one group, cells cultured with light medium were the control group and cultured with heavy medium were the experimental group. In another group, the settings of the control and experimental groups are reversed. 24 h later, the cells were collected and then lysed at low temperature for 30 min, centrifuged at 20000 g, 4°C for 20 min, the protein lysate was obtained eventually via supernatant collection. After cell concentrations were measured using an ultraviolet spectrophotometer with the Bradford method, the light/weight $({}^{12}C_{c}/{}^{13}C_{c})$ isotope-labeled proteins of the experimental and control groups were mixed in a 1:1 ratio into the same tube. Then the final concentration of 15% TFA (v/v) was added to precipitate the crude protein, wash twice with acetone (-20°C), centrifuge (20000 g, 4°C) for 10 min. Protein precipitation obtained by centrifugation was dissolved in 100 mM NH HCO, (PH 8.0).

Peptide acquisition and HPLC separation

Trypsin is added to the collected cell protein solution in an appropriate ratio, and digested for 16 h at 37°C. Then 10 mM dithiothreitol (DTT) was added and reacted at 37°C for 1 h. Add indole-3-acetic acid (IAA) to a final concentration of 20 mM, and react in the dark for 45 min, in which process the protein was alkylated. Finally, trypsin was added again so that the ratio of trypsin to protein was 1:100 (w/w), and digestion was continued at 37°C for 4 h to complete the digestion cycle.

The trypsin digested samples were subjected to high pH reverse HPLC by Agilent 300 Extend C18 column (5 μ m particles, 250×4.6 mm) to fractionate the protein samples. Initially, protein peptides were separated in a gradient of 2% to 60% acetonitrile in 10 mM ammonium bicarbonate buffer (pH = 10) within 80 min, followed by vacuum centrifugal drying.

LC-MS/MS analysis

The EASY-nLC 1000 UPLC system (Thermo Fisher Scientific, MA, USA) was used for peptide analysis using Acclaim PepMap RSLC column (Thermo Fisher Scientific, MA, USA). The composition of mobile phase A was 0.1% FA and 5% CAN while mobile phase B was 0.1% FA and 98% CAN. The obtained peptide was dissolved in 0.1% TFA, and the sample flow rate was 400 nl/min. The linear separation gradient ranged from 4% to 80% with the elution time is 40 min. All peptides were analyzed by Q Exactive[™] hybrid quadrupole-Orbitrap mass spectrometer (Thermo Fisher Scientific, MA, USA). The mass spectrometer (MS) was operated in a top 20 data-dependent mode to switch automatically between MS and MS/MS acquisition with a dynamic exclusion time of 20 s. The MS scanning ranges from 350 to 1800 (m/z) and the scanning resolution is 70000.

Database search and bioinformatics analysis

The raw MS data was imported in MaxQuant software program (V.1.4.1.2), which used Andromeda search engine to search the Swissprot_human database (v.3.85). The relevant parameters of MaxQuant software are set as: fixed modification: carbamyl methylation of cysteine; optional modification: acetylation of N-term and oxidation on met; fragment ion mass error is 0.02 Da; protein, peptide and modification site FDR threshold are 1%. The following bioinformatics analysis mainly including Go analysis, KEGG analysis, String analysis and so on.

Immunofluorescence

Cells were treated with shikonin (2 μ M) for 24 h, fixed in 4% paraformaldehyde and permeabilized with 0.1% TrintonX-100 for 10 min before being blocked with 10% BSA for 2 h. The cells were then stained with PKM2 and Nrf2 antibodies (proteintech) according to manufacturer's instructions. The cells were washed 3 times with 1% TBST, and counterstained with DAPI (Beyotime) to determine the cellular nucleus, followed by laser scanning confocal microscopy observation (Leica Microsystems, Wetzlar, Germany).

RNA interference

The small-interfering RNAs (siRNA) were synthesized by GenePharma (Shanghai, China) and the sequence is listed as follows: BAG3 sense: (5'-AAGGUUCAGACCAUCUUGGAA-3' and 3'-UUCCAAGAUGGUCUGAACCUU-5'). Cells were transfected via the Lipofectamine[™] RNAiMAX Transfection reagent (Invitrogen, CA, USA) according to the instruction for 48 h, and then collect transfected cells for further analysis.

Tumor xenograft experiments

Female BALB/c nude mice aged 6-8 weeks were maintained under standard conditions. HepG2 cells (1×10^6) in 100 µL of PBS and Matrigel were subcutaneously implanted into the flanks of mice to establish tumor xenografts. When the tumor xenografts reached ~4 mm in diameter, the mice were randomly divided into treatment and control groups (4 mices/ group). The treatment group received intraperitoneal injection of shikonin at a dose of 1 mg/ kg every three day for 12 days, whereas the control group received the PBS only. Tumor size was measured every three days, and the tumor volume was calculated using the following equation: V = (length × width²)/2.

Statistical analysis

All statistics are expressed as means \pm SD from three independent experiments, for *in vitro* studies, the significant differences in means are tested by two-tailed Student's t-test. *In vivo* experiment is tested by one-way ANOVA analysis. The differences with **P* < 0.05, ***P* < 0.01, or ****P* < 0.001 were considered statistically significant. GraphPad Prism 8 (GraphPad, San Diego, CA) was used to perform statistical analyses and graphic processing. Survival analysis was performed using the Kaplan-Meier method with the log-rank test by IBM SPSS Statistics v.19 (SPSS Inc., Chicago, IL).

Result

PKM2 overexpression predicts poor prognosis in HCC patients

To investigate the oncogenic role of PKM2 on HCC, we analyzed the PKM2 level *via* using TCGA (The Cancer Genome Atlas) database, and observed that PKM2 expression was significantly upregulated in tumor tissues, as compared to para-tumor tissue (**Figure 1A**), in these HCC patients, PKM2 expression was elevated in stage-dependent manner (**Figure 1B**). To evaluate the significant contribution of PKM2 in the prognosis of HCC patients, we analyzed the relevance of PKM2 expression with overall survival and disease specific survival of patients.



Figure 1. The oncogenic role of PKM2 in HCC. A. Expression level of PKM2 in TCGA HCC tumors (n = 371) compared to normal liver tissues (n = 50), were analyzed by using GEPIA (Gene Expression Profiling Interactive Analysis) webserver, showing that PKM2 was upregulated in the TCGA HCC. B. Among these patients, PKM2 expression level was positively correlated with TNM stages (normal liver samples and tumor samples classified to stage 1, stage 2, stage 3 and stage 4). C. Kaplan-Meier survival analysis showing that PKM2 overexpression was positively associated with worse Overall survival and Disease specific survival. D. The interaction of PKM2 and shikonin conducted by molecular docking. Dimerized PKM2 was coloured by cyan and red. Shikonin, yellow. The hydrophobicity of shikonin in PKM2 was showed. E. The detail interaction between shikonin-PKM2 was showed on 2D diagram. Green, conventional hydrogen bond; Pink, Pi-Alkyl interaction.

As shown in Figure 1C, patients with PKM2 positive exhibited worse overall survival (OS, Logrank P = 3.9e-05) and lower disease specific survival (DSS, Logrank P = 0.0026) than the PKM2 low expression group. These data highlighted an oncogenic role of PKM2 in HCC, suggesting PKM2 can develop as a promising target for clinical cancer therapy. Shikonin was previous reported as the most potent and specific inhibitors of PKM2 [6], by using molecular docking, we found that shikonin could bind to PKM2 on the surface of forming dimer or tetramer (Figure 1D), the 2D digram of shikonin and PKM2 interaction was showed in Figure 1E, shikonin can form hydrogen bonds with PKM2 at Phe26, Tyr390, Leu33, Leu353, Ala388 and Lys311.

Shikonin inhibits the cell proliferation of HCC cell lines

To investigate the anti-cancer effect of shikonin in HCC, two representative HCC cell lines were then treated with increasing dosages of shikonin (0-10 µM) for 12, 24, 36 and 48 h, and the cell viability was detected by CCK8 assay. As shown in Figure 2A, shikonin suppressed the cell viability of SMMC-7721 and HepG2 cells in dose- and time-dependent manners, with IC50 values of 12.34 ± 2.03 µM and 6.82 ± 0.4 µM for 24 h treatment, and 4.28 \pm 0.05 μ M and 4.25 \pm 0.11 μ M for 48 h treatment, respectively (Tables 1, 2). Moreover, our colony formation assays were performed to detect the suppressive effect of shikonin on the cell growth of both HCC cells. As shown in Figure 2B, colony formation ability of the two HCC cells was decreased by shikonin in a dosedependent manner. Moreover, we found that shikonin could induce cell cycle arrest in both SMMC-7721 and HepG2 cells (Figure 2C). These data suggested that shikonin inhibits the proliferation of HCC cells via triggering cell cycle arrest.

Shikonin induces apoptotic cell death in HCC cells via mitochondrial pathway

Since shikonin significantly decreased the cell viability of SMMC-7721 and HepG2, we further asked whether shikonin induced apoptosis in HCC cells. Initially, by investigating the morphology of both SMMC-7721 and HepG2 cells that treated with shikonin, a significant cell shrinkage and decreased cellular attachment were found (Figure 3A). Next, both SMMC-7721 and HepG2 cells were incubated with increasing dosages of shikonin (0, 2, 4, 8 μ M) for 24 h, the apoptosis of HCC cells was detected by Annexin V-FITC/PI double staining assay (Figure **3B**), the result showed that apoptotic rate of SMMC-7721 and HepG2 cells increased by shikonin in dose-dependent manners. Immunoblotting assay was employed and revealed that shikonin dramatically enhenced the level of cleaved-PARP and Bax, while decreased the expression of Bcl2, in a dose-dependent manner (Figure 3C), suggesting that shikonin could induce apoptotic cell death in HCC. To further determine the anticancer effect of shikonin in vivo, we established tumor xenograft model using HepG2 cells and found that intraperitoneal injection of shikonin at a dose of 1 mg/kg significantly decreased cancer growth as compared to PBS treated group (Figure 3D). These data reveal that shikonin exhibits significantly anticancer effect on HCC in vivo and in vitro.

Forward/reverse SILAC-based proteomic analysis of HCC cells treated with shikonin

To further investigate some novel molecular events regulated by shikonin, we performed an SILAC-based quantitative proteomics to globally profiling protein alteration in shikonin-treated HepG2 cells. The schematic diagram was shown in **Figure 4A**. HepG2 cells labeled with Heavy or Light chain were treated with DMSO or shikonin ($2 \mu M$) for 24 h, respectively. From two



Figure 2. Shikonin inhibits the cell growth of HCC. A. Both SMMC-7721 and HepG2 cells were treated with increasing concentrations (0-10 μ M) of shikonin for different time points (12, 24, 36, 48 h), and the cell viability was determined by CCK-8 assay. B. Both HCC cells treated with 2 and 4 μ M of shikonin were compared for their abilities to

form colonies; Scale bar, 1 cm. C. SMMC-7721 and HepG2 cells were treated with increasing concentrations (0-8 μ M) of shikonin for 24 h, the percentages of cells in G1, S and G2/M phases were statistically presented. Mean ± SD; n = 3; **P* < 0.05, ***P* < 0.01, ****P* < 0.001 compared with DMS0-treated cells.

Concentration (UM)		Inhibition	Inhibition rate (%)							
	12 h	24 h	36 h	48 h						
0	0.00 ± 0.00	0.00 ± 0.00	0.00 ± 0.00	0.00 ± 0.00						
2	3.83 ± 0.06	7.53 ± 3.98*	19.53 ± 4.34**	22.07 ± 1.33**						
4	13.47 ± 0.25**	21.10 ± 3.01**	37.25 ± 2.13**	42.40 ± 1.4**						
6	14.13 ± 0.21**	36.90 ± 2.69**	51.30 ± 4.44**	68.10 ± 1.35**						
8	26.95 ± 0.15**	38.03 ± 2.65**	60.02 ± 2.30**	74.30 ± 1.89**						
10	29.40 ± 0.10**	39.72 ± 3.73**	62.83 ± 3.06**	82.90 ± 0.89**						

Table 1. Inhibitory ratio of shikonin on SMMC-7721 cells

Note: *indicated significant difference (P < 0.05), and **indicated extremely significant difference (P < 0.01). All concentration groups were compared with 0 μ M group.

Concentration (UNA) -	Inhibition rate (%)								
Concentration (µm)	12 h	24 h	36 h	48 h					
0	0.00 ± 0.00	0.00 ± 0.00	0.00 ± 0.00	0.00 ± 0.00					
2	2.42 ± 2.66	9.88 ± 1.55**	15.87 ± 4.05**	17.53 ± 3.06**					
4	5.41 ± 5.00	34.20 ± 1.81**	43.00 ± 0.89**	50.63 ± 1.01**					
6	8.40 ± 5.25	48.40 ± 1.44**	50.12 ± 2.42**	67.78 ± 0.73**					
8	37.95 ± 2.31**	55.57 ± 3.97**	66.76 ± 1.06**	76.70 ± 0.69**					
10	38.55 ± 3.11**	61.33 ± 2.86**	72.98 ± 0.98**	78.43 ± 0.61**					

Table 2. Inhibition ratio of shikonin on HepG2 cells

Note: **indicated extremely significant difference (P < 0.01). All concentration groups were compared with 0 μ M group.

independent label-swap experiments (forward and reverse), a total of 702 proteins were identified in two experiments, among which 247 proteins were increased and 206 proteins were decreased, as analyzed by volcano plot (fold change > ± 1.2, P < 0.05, Figure 4C, Table S1). The 453 differential expressed proteins (DEPs) were submitted to IPA analysis to study the biological progresses that participated in the anticancer effects of shikonin in HCC. As shown in Figure 4D, shikonin-regulated proteins were remarkably enriched in several biological progresses including Nrf2-mediated oxidative stress response and protein ubiquitination pathway. Network analysis showed that BAG3 was the hub protein in the shikonin-driven network that significantly upregulated (Figure 4E). The SILAC-based quantitative proteomic result indicated that Nrf2-mediated BAG3 expression is the critical event in HCC in response to shikonin stimuli.

Nrf2-BAG3 signaling is adaptively response for shikonin stimuli in HCC

According to the SILAC-quantitative proteomic data, shikonin dramatically induced Nrf2signaling activation in HCC cells, which promoted the cellular adaptive response. We next performed western blotting to confirm the expression of Nrf2 in HCC cells treated with shikonin. Our data demonstrated that Nrf2 were significantly increased in the nuclear section of HCC cells treated with shikonin (Figure 5A). Previous study reported a noncanonical function of PKM2 as a transcriptional coactivator of Nrf2, which recruits Nrf2 for detoxification in cell [16]. Here, we also observed that the nuclear translocation of PKM2 in HCC cells were enhanced by shikonin stimuli. In addition, we found that shikonin treatment could enhance the interaction between Nrf2 and PKM2 (Figure 5B). To further confirm this result, we





Figure 3. Shikonin induces the apoptosis of HCC. A. SMMC-7721 and HepG2 cells were treated with shikonin for 24 h. Cell morphology was photographed under a microscopy ($40 \times$ magnification), Scale bar: 100 µm. B. SMMC-7721 and HepG2 cells were treated with shikonin for 24 h. The apoptosis rate of SMMC-7721 and HepG2 was determined by Annexin V-FITC/PI double staining assay. C. The expression of apoptosis-related proteins including pro-PARP, cleaved-PARP, Bax and Bcl2 were detected by immunoblotting. D. Nude mice bearing HepG2-derived xenografts were intraperitoneally injected either shikonin (1 mg/kg) or PBS every three days (n = 4 per group). Left, images of tumors; right, tumor curves showed that shikonin exerted a significant inhibitory effect on the growth of tumor xenografts. Mean \pm SD; n = 3; *P < 0.05, **P < 0.01, ***P < 0.001 compared with control group.





Figure 4. SILC-based proteomics identifies shikonin-regulated proteins. A. Experimental flow chart of the identification of shikonin regulated proteins. B. Venn diagram of the number of proteins that identified in forward and reverse experiment. C. Volcano plots of DEPs in shikonin treatment in HCC cells. D. DEPs were subjected to the IPA analysis, and the top five canonical pathways were generated according to the *P* values. Note that the shikonin regulated proteins were mainly enriched in Nrf2 mediated oxidative stress response. E. Network analysis from IPA showed that BAG3 is the hub protein that upregulated in shikonin regulated proteins.



Figure 5. Shikonin induces BAG3 expression by enhancing the interaction of Nrf2 and PKM2. (A) HepG2 cells were treated with shikonin for 24 h, the nuclear and cytoplasmic fractions were isolated for western blot analysis. Lamin B and GAPDH was used as the marker for nuclear protein and cytoplasmic fraction, respectively. (B) HepG2 expressing Nrf2-flag was treated with shikonin (2 μ M) for 24 h, the interaction of PKM2 and Nrf2 was determined by co-immunoprecipitation using anti-flag antibody. (C) HCC cells treated with shikonin (2 μ M) for 24 h, the cellular localization of PKM2 and Nrf2 was determined by confocal assay. (D, E) Both SMMC-7721 and HepG2 cells were treated with indicated dosages of shikonin for 24 h, the mRNA of BAG3 was determined by qRT-PCR (D), and the protein expression of BAG3 was determined by immunoblotting (E). Bars, mean ± SD; n = 3; **P < 0.01, compared with DMSO-treated cells.

performed confocal assay and found that colocalization and nuclear translocation of Nrf2 and PKM2 were found in HCC cells treated with shikonin (**Figure 5C**), suggesting shikonin not only suppresses the activity of PKM2, but also induces nuclear translocation of PKM2 for recruiting Nrf2. As a downstream target of Nrf2, BAG3 was up-regulated in mRNA and protein level after shikonin treatment in dose-dependent manner (**Figure 5D** and **5E**), suggesting that Nrf2-BAG3 signaling is response for shikonin stimulation in HCC.

Knockdown of BAG3 enhances the anticancer effect of shikonin

Since the results above indicated that shikonin induced the upregulation of BAG3, we further asked whether blockade of BAG3 can augment the anticancer effects of shikonin. As shown in Figure 6A, both HCC cells with BAG3 knockdown showed lower cell viability after increasing shikonin treatment. We next treated HCC cells with shikonin in the presence or absence of the si-BAG3, and then detected by colony formation assay and cell cycle assay. As shown in Figure 6B, 6C, knockdown of BAG3 decreased cell proliferation and induced cell cycle arrest at G1 phase, and this anticancer effect was significantly augmented by the treatment of shikonin in both HCC cells. Moreover, we also observed that knockdown of BAG3 expression enhanced the cancer cell apoptosis induced by shikonin (Figure 6D), as indicated by Annexin V-FITC/PI double staining assay and expression for cleaved-PARP, Bax and Bcl2 (Figure 6E), suggesting a synergistic effect of shikonin stimulation and BAG3 suppression.

The oncogenic role of BAG3 in HCC

It seems that BAG3 play a protective role in HCC in response to shikonin mediated cancer suppression. We further investigate the clinical significance of BAG3 on HCC by using TCGA database, and observed that BAG3 was increased in HCC tissues, as compared to paratumor tissue (**Figure 7A**), in these HCC patients, BAG3 expression was elevated in stage-dependent manner (**Figure 7B**). To evaluate the significant contribution of BAG3 expression in the prognosis of patients with HCC, we analyzed the relevance of BAG3 expression and overall survival and disease specific survival of patients, respectively. As shown in **Figure 7C**, patients with high PKM2 expression exhibited worse overall survival (OS, Logrank P = 0.017) and lower disease specific survival (DSS, Logrank P = 0.042) than the PKM2 low expression group. These data highlight an oncogenic role of BAG3 in HCC, suggesting inhibition of BAG3 in combinated with PKM2 inhibitor is a promising strategy for clinical cancer therapy of HCC.

Discussion

This study firstly discovered a novel mechanism of PKM2 suppression induced by specific inhibitor shikonin, by which shikonin could induced PKM2 nucleus translocation for recruiting Nrf2, the activated Nrf2 transcriptionally promoted the expression of downstream target gene BAG3, which plays a protective role in HCC. We thus proposed inhibition of BAG3 could increase the anticancer effect of shikonin on HCC (**Figure 7D**).

HCC is an emerging problem worldwide due to the rising incidences and lack of effective preventive drugs. Therefore, the investigation for new anticancer agents that are attracted a great of interest. Natural products extracted from medicinal plants are critical sources for chemotherapeutic agent discovery [17, 18]. For example, camptothecin, a quinoline type of alkaloid isolated from Camptotheca acuminata (Nyssaceae), was found to exhibit strong anticancer effect by targeting nuclear DNA topoisomerase I, resulting DNA damage in cancer cell [19]. Shikonin is the major bioactive component isolated from the dried plant roots of Lithospermum erythrorhizon, which was previously been found to exert significant anticancer effects on various carcinomas. For example, shikonin could induce necrosis or apoptotic cell death in gastrointestinal cancer by generating reactive oxygen species [20]. It could suppress the metastatic activity of breast cancer cells through reducing the promoter activity of activator protein-1 (AP-1) that suppressed MMP-9 transcription [21]. In this study, we found that shikonin not only induced cell cycle arrest at G2/M phase, but also trigger cell apoptosis in HCC, suggesting shikonin can be a potential anticancer compound for HCC therapy.

It is well recognized that PKM2 has an critical function in boosting cancer cell metabolism and proliferation by providing major energy









Figure 7. The expression of BAG3 on HCC. A. Expression level of BAG3 in TCGA HCC tumors (n = 371) compared to normal liver tissues (n = 50), were analyzed by using GEPIA webserver, showing that BAG3 was upregulated in the TCGA HCC. B. Among these patients, BAG3 expression level was positively correlated with TNM stages (normal liver samples and tumor samples classified to stage 1, stage 2, stage 3 and stage 4). C. Kaplan-Meier survival analysis showing that BAG3 overexpression was positively associated with worse Overall survival and Disease specific survival. D. Schematic diagram of the apoptotic pathway induced by shikonin.

source for cancer [22]. Inhibition of PKM2 expression by siRNA could dramatically reduce

the tumor growth, therefore, PKM2 could be a promising target for cancer therapy. Shikonin

was reported to be a specific inhibitor that binds to PKM2, but not PKM1 [6]. We here further demonstrated that shikonin could bind to the surface of PKM2 dimer or tetramer by forming hydrogen bonds with PKM2 at Phe26, Tyr390, Leu33, Leu353, Ala388 and Lys311. To further investigate the cellular molecular events caused by shikonin in HCC, SILAC-based quantitative proteomics were employed to characterize the shikonin-regulated protein change in HCC, and then evaluated the high relevant signaling pathways guided by the proteomic. Our data demonstrated that shikonin treatment could activate Nrf2-BAG3 signaling to protect cancer cell from cytotoxicity, as evidenced by suppression of BAG3 using siRNA could dramatically enhance the anticancer effect of shikonin. Nrf2 is a transcription factor that can enhance adaptive protection gene expression, to offset cellular oxidative and proteotoxic stress [23]. Recently study reported a new noncanonical function of PKM2 as a transcriptional coactivator of Nrf2, to generate sufficient GSH for ROS detoxification [16]. Interestingly, our study novelly found that PKM2 suppressed by shikonin could translocate to nucleus, and recruit Nrf2 for initiating downstream target gene BAG3 expression, an antiapoptotic protein that sustaining cellular homoeostasis [24]. Therefore, we proposed abolishment of BAG3 function in HCC could enhance the anticancer effect of shikonin.

Multifunctional protein BAG3 is constitutively expressed in various tumor types, which plays an essential role in sustaining cell survival in cancer cells [25]. In glioblastoma, BAG3 was reported to bind with Bax in cytoplasm, and inhibited its translocation to mitochondria, therefore preventing cells from apoptosis [26]. The anti-apoptosis activity of BAG3 was evidenced by its involvement of ERK1/2-dependent pathway and IKK α transactivation in castration-resistant prostate cancer cells [27]. Our results showed that shikonin could induced BAG3 expression via Nrf2 signaling, which exerts protect role in offsetting the antitumor effect of shikonin.

In conclusion, this study revealed that shikonin possesses strong anticancer activity via inducing apoptotic cell death in SMMC-7721 and HepG2 cells. On the other hand, shikonin induces the PKM2-mediated Nrf2 transactivation to activate Nrf2-BAG3 signaling for sustain the survival of HCC cells. This finding reveals noncanonical function of PKM2-Nrf2-BAG3 signaling in shikonin treatment, highlighting BAG3 inhibition in combined with shikonin may be a potential antitumor strategy against HCC.

Acknowledgements

This work was supported by the National Natural Science Foundation of China (No. 81760500 and 31360459) and the Natural Science Foundation of Guangxi Province (No. 2017GXNSFAA198362 and NO. 2018GXNSFD-A050009). China Postdoctoral Science Foundation (2018M643372, 2020T130252), Postdoctoral Fund of the First Affiliated Hospital, Jinan University (801325), Guangdong Natural Science Research Grant (2019A1515010196, 2019A1515110597) and The Fundamental Research Funds for the Central Universities (11619303).

Disclosure of conflict of interest

None.

Address correspondence to: Dr. Chun-Hua Lu, Research Laboratory of Zhuang & Yao Medicine, Guangxi International Zhuang Medicine Hospital Affiliated to Guangxi National University of Traditional Chinese Medicine, Nanning 530201, China. E-mail: chlu_gxgz@163.com; Dr. Yang Wang, Institute of Life and Health Engineering, College of Life Science and Technology, Jinan University, Guangzhou 510632, China. Tel: +86-20-85223139; Fax: +86-20-85223139; E-mail: wangyang8857@gmail. com

References

- [1] Liu T, Li S, Wu L, Yu Q, Li J, Feng J, Zhang J, Chen J, Zhou Y, Ji J, Chen K, Mao Y, Wang F, Dai W, Fan X, Wu J and Guo C. Experimental study of hepatocellular carcinoma treatment by shikonin through regulating PKM2. J Hepatocell Carcinoma 2020; 7: 19-31.
- [2] Paur J, Valler M, Sienel R, Taxauer K, Holzmann K, Marian B, Unterberger A, Mohr T, Berger W, Gvozdenovich A, Schimming J, Grusch M and Grasl-Kraupp B. Interaction of FGF9 with FG-FR3-IIIb/IIIc, a putative driver of growth and aggressive behaviour of hepatocellular carcinoma. Liver Int 2020; 40: 2279-2290.
- [3] Feng J, Dai W, Mao Y, Wu L, Li J, Chen K, Yu Q, Kong R, Li S, Zhang J, Ji J, Wu J, Mo W, Xu X and

Guo C. Simvastatin re-sensitizes hepatocellular carcinoma cells to sorafenib by inhibiting HIF-1alpha/PPAR-gamma/PKM2-mediated glycolysis. J Exp Clin Cancer Res 2020; 39: 24.

- [4] Zahra K, Dey T, Ashish, Mishra SP and Pandey U. Pyruvate kinase M2 and cancer: the role of PKM2 in promoting tumorigenesis. Front Oncol 2020; 10: 159.
- [5] Chen X, Song X, Yue W, Chen D, Yu J, Yao Z and Zhang L. Fibulin-5 inhibits Wnt/beta-catenin signaling in lung cancer. Oncotarget 2015; 6: 15022-15034.
- [6] Chen J, Xie J, Jiang Z, Wang B, Wang Y and Hu X. Shikonin and its analogs inhibit cancer cell glycolysis by targeting tumor pyruvate kinase-M2. Oncogene 2011; 30: 4297-4306.
- [7] Chandimali N, Sun HN, Kong LZ, Zhen X, Liu R, Kwon T and Lee DS. Shikonin-induced apoptosis of colon cancer cells is reduced by peroxiredoxin V expression. Anticancer Res 2019; 39: 6115-6123.
- [8] Huang C and Hu G. Shikonin suppresses proliferation and induces apoptosis in endometrioid endometrial cancer cells via modulating miR-106b/PTEN/AKT/mTOR signaling pathway. Biosci Rep 2018; 38: BSR20171546.
- [9] Kim HJ, Hwang KE, Park DS, Oh SH, Jun HY, Yoon KH, Jeong ET, Kim HR and Kim YS. Shikonin-induced necroptosis is enhanced by the inhibition of autophagy in non-small cell lung cancer cells. J Transl Med 2017; 15: 123.
- [10] Song J, Zhao Z, Fan X, Chen M, Cheng X, Zhang D, Wu F, Ying X and Ji J. Shikonin potentiates the effect of arsenic trioxide against human hepatocellular carcinoma in vitro and in vivo. Oncotarget 2016; 7: 70504-70515.
- [11] Martin SP, Fako V, Dang H, Dominguez DA, Khatib S, Ma L, Wang H, Zheng W and Wang XW. PKM2 inhibition may reverse therapeutic resistance to transarterial chemoembolization in hepatocellular carcinoma. J Exp Clin Cancer Res 2020; 39: 99.
- [12] Wang Y, Zhang J, Li B and He QY. Advances of proteomics in novel PTM discovery: applications in cancer therapy. Small Methods 2019; 3.
- [13] Wang Y, Yu RY, Zhang J, Zhang WX, Huang ZH, Hu HF, Li YL, Li B and He QY. Inhibition of Nrf2 enhances the anticancer effect of 6-O-angeloylenolin in lung adenocarcinoma. Biochem Pharmacol 2017; 129: 43-53.
- [14] Wang Y, Zhang J, Li B and He QY. Proteomic analysis of mitochondria: biological and clinical progresses in cancer. Expert Rev Proteomics 2017; 14: 891-903.
- [15] Zhang J, Sun Y, Zhong LY, Yu NN, Ouyang L, Fang RD, Wang Y and He QY. Structure-based discovery of neoandrographolide as a novel inhibitor of Rab5 to suppress cancer growth.

Comput Struct Biotechnol J 2020; 18: 3936-3946.

- [16] Wei Y, Lu M, Mei M, Wang H, Han Z, Chen M, Yao H, Song N, Ding X, Ding J, Xiao M and Hu G. Pyridoxine induces glutathione synthesis via PKM2-mediated Nrf2 transactivation and confers neuroprotection. Nat Commun 2020; 11: 941.
- [17] Liao C, Zheng K, Li Y, Xu H, Kang Q, Fan L, Hu X, Jin Z, Zeng Y, Kong X, Zhang J, Wu X, Wu H, Liu L, Xiao X, Wang Y and He Z. Gypenoside L inhibits autophagic flux and induces cell death in human esophageal cancer cells through endoplasm reticulum stress-mediated Ca2+ release. Oncotarget 2016; 7: 47387-47402.
- [18] Zhang J, Zhou Y, Li N, Liu WT, Liang JZ, Sun Y, Zhang WX, Fang RD, Huang SL, Sun ZH, Wang Y and He QY. Curcumol overcomes TRAIL resistance of non-small cell lung cancer by targeting NRH: quinone oxidoreductase 2 (NQO2). Adv Sci (Weinh) 2020; 7: 2002306.
- [19] Beretta GL, Gatti L, Perego P and Zaffaroni N. Camptothecin resistance in cancer: insights into the molecular mechanisms of a DNA-damaging drug. Curr Med Chem 2013; 20: 1541-1565.
- [20] Lee MJ, Kao SH, Hunag JE, Sheu GT, Yeh CW, Hseu YC, Wang CJ and Hsu LS. Shikonin timedependently induced necrosis or apoptosis in gastric cancer cells via generation of reactive oxygen species. Chem Biol Interact 2014; 211: 44-53.
- [21] Jang SY, Lee JK, Jang EH, Jeong SY and Kim JH. Shikonin blocks migration and invasion of human breast cancer cells through inhibition of matrix metalloproteinase-9 activation. Oncol Rep 2014; 31: 2827-2833.
- [22] Liu M, Zhang Z, Wang H, Chen X and Jin C. Activation of AMPK by metformin promotes renal cancer cell proliferation under glucose deprivation through its interaction with PKM2. Int J Biol Sci 2019; 15: 617-627.
- [23] Wang Y, Zhang J, Huang ZH, Huang XH, Zheng WB, Yin XF, Li YL, Li B and He QY. Isodeoxyelephantopin induces protective autophagy in lung cancer cells via Nrf2-p62-keap1 feedback loop. Cell Death Dis 2017; 8: e2876.
- [24] Kogel D, Linder B, Brunschweiger A, Chines S and Behl C. At the crossroads of apoptosis and autophagy: multiple roles of the co-chaperone BAG3 in stress and therapy resistance of cancer. Cells 2020; 9: 574.
- [25] De Marco M, Basile A, Iorio V, Festa M, Falco A, Ranieri B, Pascale M, Sala G, Remondelli P, Capunzo M, Firpo MA, Pezzilli R, Marzullo L, Cavallo P, De Laurenzi V, Turco MC and Rosati A. Role of BAG3 in cancer progression: a therapeutic opportunity. Semin Cell Dev Biol 2018; 78: 85-92.

- [26] Festa M, Del Valle L, Khalili K, Franco R, Scognamiglio G, Graziano V, De Laurenzi V, Turco MC and Rosati A. BAG3 protein is overexpressed in human glioblastoma and is a potential target for therapy. Am J Pathol 2011; 178: 2504-2512.
- [27] Ammirante M, De Laurenzi V, Graziano V, Turco MC and Rosati A. BAG3 is required for IKKalpha nuclear translocation and emergence of castration resistant prostate cancer. Cell Death Dis 2011; 2: e139.

Name	FC ^a	P value	F-FC [⊳]	F-L ^c	F-H ^d	R-FC ^e	R-L ^f	R-H ^g
Q53S33	1.36	5.31E-06	1.36	115.4	84.6	1.36	84.7	115.3
Q9BQE4	1.74	6.91E-06	1.73	126.8	73.2	1.74	73	127
Q13206	1.29	7.81E-06	1.29	112.6	87.4	1.29	87.3	112.7
Q13907	1.25	1.02E-05	1.25	111.1	88.9	1.25	89	111
P04792	1.22	1.29E-05	1.22	109.8	90.2	1.22	90.1	109.9
P53621	1.51	2.74E-05	1.51	120.1	79.9	1.51	79.6	120.4
Q01995	1.57	4.02E-05	1.58	122.5	77.5	1.57	77.9	122.1
043709	1.24	4.45E-05	1.24	110.5	89.5	1.24	89.3	110.7
Q96L91	1.22	5.10E-05	1.22	110	90	1.22	90.2	109.8
Q9H2C0	1.48	5.26E-05	1.49	119.7	80.3	1.48	80.7	119.3
Q9NUQ3	1.31	0.000111	1.32	113.6	86.4	1.3	86.8	113.2
Q86X95	1.5	0.000112	1.49	119.7	80.3	1.51	79.7	120.3
095817	1.51	0.000148	1.5	120	80	1.52	79.3	120.7
P17980	1.33	0.000156	1.34	114.4	85.6	1.32	86.1	113.9
P02794	2.46	0.000158	2.5	142.9	57.1	2.42	58.6	141.4
Q96N67	1.47	0.000169	1.46	118.7	81.3	1.48	80.6	119.4
Q12830	1.95	0.000175	1.97	132.7	67.3	1.92	68.5	131.5
Q6PCE3	1.36	0.000197	1.36	115.4	84.6	1.35	85.2	114.8
Q13885	1.28	0.000212	1.27	111.9	88.1	1.28	87.6	112.4
Q5W0Z9	2.13	0.000309	2.09	135.3	64.7	2.18	62.9	137.1
Q9UGU5	1.31	0.000349	1.32	113.6	86.4	1.3	87.1	112.9
P50452	1.21	0.00035	1.22	109.7	90.3	1.2	90.8	109.2
Q9GZR7	1.58	0.000359	1.56	121.8	78.2	1.6	77	123
P46821	2.18	0.000399	2.13	136.1	63.9	2.23	61.8	138.2
P17275	1.64	0.000685	1.67	125.2	74.8	1.61	76.6	123.4
076021	1.45	0.000715	1.48	119.2	80.8	1.43	82.2	117.8
095602	1.23	0.000725	1.23	110.1	89.9	1.25	89.1	110.9
Q7L3B6	1.34	0.000832	1.36	115.3	84.7	1.33	85.9	114.1
Q9BS26	1.21	0.000924	1.2	108.9	91.1	1.22	90.3	109.7
P62993	1.29	0.000929	1.28	112.2	87.8	1.31	86.7	113.3
P11387	1.67	0.000959	1.63	124	76	1.71	73.8	126.2
Q14573	1.28	0.00099	1.27	111.8	88.2	1.3	87.1	112.9
Q969X6	1.45	0.00106	1.48	119.3	80.7	1.43	82.4	117.6
Q8IZP0	1.36	0.001073	1.34	114.4	85.6	1.38	84.2	115.8
Q9P270	1.36	0.001192	1.38	116.1	83.9	1.34	85.4	114.6
P48507	2.04	0.001303	1.97	132.5	67.5	2.13	64	136
000459	1.68	0.001318	1.63	124	76	1.72	73.4	126.6
Q96HA1	1.21	0.001442	1.19	108.8	91.2	1.22	90.2	109.8
Q9NQ29	1.32	0.001463	1.3	113.1	86.9	1.34	85.4	114.6
Q9BYG3	1.23	0.001465	1.24	110.7	89.3	1.21	90.4	109.6
Q71RC2	1.4	0.001605	1.38	115.8	84.2	1.43	82.3	117.7
095707	1.32	0.001652	1.3	113.1	86.9	1.35	85.3	114.7
Q9Y5X2	1.35	0.001656	1.37	115.6	84.4	1.32	86.1	113.9
P07339	1.29	0.001753	1.27	111.9	88.1	1.31	86.6	113.4
P02792	2.86	0.001805	3.09	151.1	48.9	2.66	54.7	145.3
P25685	1.92	0.00201	2.01	133.5	66.5	1.84	70.5	129.5
Q15527	1.27	0.002252	1.29	112.7	87.3	1.25	88.9	111.1

 Table S1. Differentially expressed proteins in the comparisons of shikinon treated HCC

Q04721	1.28	0.002322	1.31	113.3	86.7	1.26	88.4	111.6
P82970	1.36	0.002331	1.39	116.4	83.6	1.33	85.7	114.3
060885	1.26	0.00237	1.24	110.8	89.2	1.28	87.6	112.4
Q15910	1.33	0.002436	1.31	113.3	86.7	1.36	84.7	115.3
Q6P4R8	1.37	0.002445	1.34	114.6	85.4	1.4	83.2	116.8
Q92598	1.5	0.002466	1.45	118.5	81.5	1.54	78.7	121.3
Q92793	1.35	0.002524	1.32	113.7	86.3	1.38	84.2	115.8
Q9Y5Q8	1.58	0.002541	1.53	120.8	79.2	1.63	76	124
Q9NV06	1.67	0.002562	1.61	123.3	76.7	1.73	73.1	126.9
Q9UHY1	1.25	0.002587	1.27	111.9	88.1	1.23	89.7	110.3
Q13200	1.31	0.002773	1.34	114.4	85.6	1.28	87.6	112.4
Q8N6T7	2	0.002806	2.12	135.8	64.2	1.89	69.2	130.8
Q9H3C7	1.72	0.003013	1.79	128.4	71.6	1.64	75.7	124.3
Q8TF74	2.39	0.003032	2.59	144.2	55.8	2.21	62.2	137.8
Q9P035	1.26	0.003048	1.28	112.4	87.6	1.24	89.4	110.6
P51784	1.53	0.003117	1.58	122.5	77.5	1.48	80.8	119.2
Q9Y2K7	2.7	0.003154	2.46	142.2	57.8	2.96	50.5	149.5
Q92890	1.25	0.003157	1.23	110.4	89.6	1.28	87.8	112.2
Q5T3I0	1.3	0.003173	1.28	112.1	87.9	1.33	85.8	114.2
Q7Z739	1.25	0.003271	1.27	112	88	1.23	89.8	110.2
P35251	1.4	0.003271	1.36	115.3	84.7	1.44	82	118
000220	1.24	0.003391	1.27	111.8	88.2	1.22	90	110
Q9NQ55	1.61	0.003469	1.68	125.3	74.7	1.54	78.6	121.4
Q9NV31	1.61	0.003499	1.67	125.2	74.8	1.54	78.7	121.3
095361	1.34	0.00362	1.31	113.4	86.6	1.38	84.1	115.9
Q7Z4S6	1.67	0.003663	1.59	122.9	77.1	1.75	72.8	127.2
Q9H2J7	1.38	0.003854	1.42	117.3	82.7	1.34	85.5	114.5
Q96I51	1.28	0.003975	1.25	111.2	88.8	1.31	86.6	113.4
P46734	1.35	0.004052	1.31	113.6	86.4	1.39	83.7	116.3
Q9UHR4	1.28	0.004107	1.31	113.2	86.8	1.25	89	111
Q8IX18	1.76	0.004287	1.66	124.9	75.1	1.86	70	130
Q15121	1.35	0.004385	1.31	113.5	86.5	1.39	83.7	116.3
Q00534	1.83	0.004535	1.95	132.1	67.9	1.72	73.5	126.5
Q9H0U3	1.26	0.004544	1.23	110.4	89.6	1.29	87.4	112.6
Q96TA2	1.46	0.004552	1.52	120.6	79.4	1.41	83	117
PODMV9	2.15	0.004829	2.34	140.1	59.9	1.98	67.1	132.9
Q6ZXV5	1.32	0.004855	1.28	112.3	87.7	1.35	85	115
095801	1.26	0.005006	1.23	110.3	89.7	1.29	87.4	112.6
Q96CN9	2.33	0.005012	2.56	143.8	56.2	2.12	64.2	135.8
Q9NX55	1.53	0.005176	1.47	118.9	81.1	1.6	76.8	123.2
Q9NYP7	1.23	0.005308	1.2	109.1	90.9	1.25	88.8	111.2
Q9NXV2	2.54	0.005813	2.85	148.1	51.9	2.26	61.3	138.7
Q08AM6	1.31	0.005847	1.27	111.9	88.1	1.35	85.2	114.8
P35610	1.34	0.005951	1.3	113	87	1.39	83.8	116.2
Q8WWK9	1.94	0.006116	1.79	128.4	71.6	2.1	64.5	135.5
P43686	1.25	0.006116	1.29	112.5	87.5	1.22	90	110
Q8WTT2	1.23	0.006357	1.25	111.3	88.7	1.2	91	109
Q9HBH0	1.97	0.006379	2.14	136.3	63.7	1.81	71.1	128.9
000267	1.2	0.006381	1.23	110.3	89.7	1.18	91.8	108.2

Q8TED0	1.27	0.006536	1.23	110.4	89.6	1.3	86.9	113.1
Q9BTC0	1.34	0.006621	1.39	116.4	83.6	1.3	87	113
014745	1.23	0.006718	1.2	109.1	90.9	1.26	88.5	111.5
Q9H8H2	1.48	0.006762	1.55	121.5	78.5	1.41	83	117
Q8N6N3	1.63	0.006849	1.53	121	79	1.73	73.4	126.6
Q9NQ84	2.17	0.007034	2.41	141.3	58.7	1.96	67.5	132.5
P62195	1.24	0.007037	1.21	109.6	90.4	1.28	87.8	112.2
Q03519	1.43	0.007338	1.49	119.8	80.2	1.37	84.5	115.5
Q9H2D6	1.49	0.007339	1.42	117.3	82.7	1.57	77.9	122.1
Q13867	1.23	0.007354	1.26	111.5	88.5	1.2	91	109
Q8TCJ2	1.23	0.007498	1.26	111.4	88.6	1.2	91.1	108.9
Q96QG7	1.42	0.007505	1.49	119.6	80.4	1.36	84.7	115.3
Q9H6W3	2.24	0.007523	2.5	142.8	57.2	2.01	66.6	133.4
Q4LE39	1.51	0.007836	1.59	122.8	77.2	1.43	82.3	117.7
Q969S3	1.65	0.007847	1.77	127.7	72.3	1.55	78.5	121.5
Q9C0J8	1.38	0.008058	1.44	118.1	81.9	1.33	86	114
015213	1.21	0.008222	1.24	110.5	89.5	1.18	91.9	108.1
Q9H9T3	1.24	0.008609	1.27	112	88	1.2	90.8	109.2
Q9UDY4	1.77	0.008741	1.64	124.1	75.9	1.92	68.5	131.5
075351	1.47	0.00875	1.4	116.6	83.4	1.55	78.3	121.7
Q9UHQ9	1.41	0.008925	1.48	119.4	80.6	1.35	85.2	114.8
P63000	1.28	0.00895	1.32	113.9	86.1	1.24	89.4	110.6
Q9BZE4	1.38	0.008963	1.44	118.1	81.9	1.32	86.2	113.8
Q5QJE6	1.39	0.009096	1.33	114	86	1.45	81.6	118.4
Q9NVP1	1.3	0.00945	1.35	114.8	85.2	1.25	88.8	111.2
Q99614	1.35	0.00952	1.29	112.7	87.3	1.4	83.2	116.8
Q9BYJ9	1.57	0.009609	1.47	119.1	80.9	1.68	74.7	125.3
043474	1.87	0.009663	2.06	134.6	65.4	1.71	73.9	126.1
Q86U38	1.26	0.009881	1.31	113.3	86.7	1.22	90	110
P36543	1.27	0.010051	1.32	113.6	86.4	1.23	89.8	110.2
Q9Y520	1.24	0.010051	1.21	109.3	90.7	1.28	87.6	112.4
P49585	1.74	0.010124	1.89	130.7	69.3	1.6	77	123
P17535	1.31	0.010197	1.37	115.5	84.5	1.26	88.4	111.6
P50454	1.29	0.010838	1.35	114.7	85.3	1.24	89.1	110.9
Q8NCA5	1.25	0.011163	1.29	112.6	87.4	1.21	90.7	109.3
P48729	1.33	0.011628	1.4	116.5	83.5	1.28	87.9	112.1
P46379	1.68	0.011765	1.54	121.3	78.7	1.82	70.9	129.1
P51149	1.21	0.011812	1.24	110.8	89.2	1.17	92.1	107.9
Q13445	1.45	0.011975	1.54	121.1	78.9	1.37	84.6	115.4
Q9NYH9	1.41	0.012237	1.34	114.4	85.6	1.49	80.2	119.8
P14373	1.26	0.012237	1.31	113.2	86.8	1.21	90.4	109.6
P47712	1.23	0.01247	1.19	108.7	91.3	1.27	88	112
Q8WW22	1.33	0.013512	1.4	116.5	83.5	1.27	88.2	111.8
Q9P265	1.26	0.013721	1.31	113.6	86.4	1.22	90.3	109.7
Q14764	2.43	0.013767	2.88	148.4	51.6	2.05	65.5	134.5
000116	1.27	0.014061	1.32	113.8	86.2	1.22	90.2	109.8
095470	1.3	0.014233	1.36	115.1	84.9	1.24	89.3	110.7
Q14807	1.25	0.014336	1.2	109.2	90.8	1.3	87	113
Q9NY93	1.3	0.014843	1.25	110.9	89.1	1.37	84.5	115.5

Q16222	1.41	0.014982	1.32	113.9	86.1	1.49	80.2	119.8
Q9H7B2	1.44	0.015051	1.35	114.8	85.2	1.54	78.9	121.1
075691	1.81	0.01532	1.62	123.7	76.3	2.03	66.1	133.9
Q9BYN0	1.55	0.015446	1.43	117.8	82.2	1.68	74.5	125.5
P23921	1.27	0.015547	1.22	109.9	90.1	1.33	85.8	114.2
P17844	1.34	0.015699	1.27	111.9	88.1	1.41	82.9	117.1
075128	1.44	0.015826	1.35	114.8	85.2	1.54	78.7	121.3
Q6WKZ4	1.49	0.01609	1.6	123.1	76.9	1.38	84	116
Q96RK0	1.53	0.016282	1.41	117	83	1.65	75.4	124.6
Q92597	1.21	0.0163	1.25	111	89	1.16	92.4	107.6
Q969Y2	1.27	0.016393	1.22	109.8	90.2	1.33	85.8	114.2
Q7KZI7	1.36	0.016761	1.44	117.9	82.1	1.28	87.7	112.3
Q8TDD1	1.26	0.017176	1.32	113.6	86.4	1.21	90.7	109.3
Q14690	1.76	0.017412	1.97	132.7	67.3	1.57	77.7	122.3
Q15012	1.61	0.017513	1.76	127.6	72.4	1.46	81.2	118.8
015498	1.28	0.017627	1.34	114.7	85.3	1.22	90	110
Q02880	1.53	0.017661	1.67	125	75	1.41	83	117
Q9BXJ9	1.27	0.018491	1.22	109.7	90.3	1.34	85.6	114.4
Q49B96	1.69	0.018835	1.88	130.7	69.3	1.52	79.4	120.6
Q9BTT4	1.3	0.019132	1.23	110.5	89.5	1.37	84.3	115.7
Q8N1G2	1.31	0.019138	1.38	116	84	1.24	89.3	110.7
Q9Y3C7	1.22	0.019419	1.17	107.8	92.2	1.27	88.3	111.7
Q8IZH2	1.23	0.019784	1.29	112.5	87.5	1.18	91.7	108.3
Q6R327	1.4	0.019871	1.51	120.2	79.8	1.31	86.6	113.4
Q16666	1.75	0.01998	1.97	132.6	67.4	1.55	78.4	121.6
Q12929	1.42	0.020082	1.52	120.7	79.3	1.32	86.3	113.7
P48556	1.22	0.020196	1.17	107.8	92.2	1.27	88.2	111.8
Q12913	1.67	0.020329	1.87	130.3	69.7	1.5	80	120
Q7Z2W4	1.42	0.020526	1.32	113.7	86.3	1.53	79.2	120.8
Q86YP4	1.21	0.020602	1.17	107.7	92.3	1.26	88.3	111.7
014965	1.23	0.020902	1.29	112.5	87.5	1.18	91.8	108.2
075410	1.2	0.021109	1.16	107.2	92.8	1.25	89	111
Q9Y5B8	1.25	0.021128	1.2	108.9	91.1	1.32	86.4	113.6
Q8WVX9	2.1	0.021612	1.77	127.8	72.2	2.49	57.3	142.7
P25490	1.59	0.022323	1.44	117.9	82.1	1.77	72.3	127.7
Q96T37	1.24	0.022331	1.18	108.4	91.6	1.3	87	113
P16401	2.78	0.022615	2.14	136.4	63.6	3.6	43.5	156.5
Q9Y2P8	1.33	0.022761	1.41	117.1	82.9	1.25	89	111
Q6UXV4	1.2	0.023311	1.15	107.1	92.9	1.25	88.9	111.1
095478	1.45	0.023501	1.58	122.4	77.6	1.33	85.7	114.3
P07305	1.53	0.023541	1.69	125.7	74.3	1.39	83.6	116.4
Q8N5A5	1.7	0.023724	1.92	131.4	68.6	1.5	80	120
P01130	1.35	0.024284	1.26	111.4	88.6	1.44	82	118
Q96BH1	2.2	0.024687	1.81	128.7	71.3	2.67	54.5	145.5
Q8TAD4	1.21	0.025782	1.27	111.7	88.3	1.16	92.7	107.3
Q9H3R2	1.24	0.025921	1.3	113	87	1.18	91.9	108.1
Q9BXF6	1.29	0.02613	1.37	115.6	84.4	1.21	90.3	109.7
000567	1.37	0.026136	1.27	112	88	1.48	80.7	119.3
Q8NB16	1.36	0.026583	1.47	118.9	81.1	1.26	88.3	111.7

Q9BX40	1.39	0.026622	1.51	120.2	79.8	1.29	87.5	112.5
P78344	1.21	0.026858	1.15	107.1	92.9	1.26	88.5	111.5
P26196	1.32	0.027421	1.23	110.5	89.5	1.41	82.9	117.1
000487	1.21	0.027521	1.27	111.9	88.1	1.16	92.7	107.3
Q8N6L1	1.58	0.027613	1.78	127.9	72.1	1.41	82.9	117.1
Q9BQG0	1.4	0.02815	1.51	120.5	79.5	1.29	87.5	112.5
Q8N5F7	2.32	0.02821	2.91	148.9	51.1	1.85	70.2	129.8
Q9NYF3	1.65	0.028581	1.87	130.3	69.7	1.45	81.6	118.4
096005	1.27	0.028684	1.35	115	85	1.2	90.9	109.1
Q9NX01	1.51	0.029295	1.36	115.2	84.8	1.67	74.8	125.2
P45985	1.24	0.029336	1.32	113.6	86.4	1.18	91.8	108.2
Q9Y2X3	1.26	0.029857	1.34	114.5	85.5	1.19	91.3	108.7
Q9H2J4	1.21	0.029857	1.27	112	88	1.16	92.8	107.2
Q9GZR2	1.25	0.030374	1.18	108.3	91.7	1.32	86.1	113.9
Q9BRX2	1.24	0.030393	1.17	108	92	1.31	86.6	113.4
P51608	1.45	0.030487	1.32	113.6	86.4	1.59	77.2	122.8
Q9UL63	1.3	0.031608	1.4	116.6	83.4	1.22	90.2	109.8
Q13501	2.1	0.031755	2.58	144.1	55.9	1.7	74	126
Q9NR30	1.32	0.03194	1.23	110.3	89.7	1.42	82.5	117.5
095297	1.21	0.033186	1.28	112.2	87.8	1.15	92.9	107.1
P11388	1.7	0.033363	1.47	119	81	1.97	67.3	132.7
Q8TD16	1.25	0.034052	1.18	108.2	91.8	1.33	85.8	114.2
015270	1.42	0.034089	1.57	122	78	1.29	87.3	112.7
075683	1.27	0.034107	1.35	114.9	85.1	1.19	91.4	108.6
095999	1.52	0.0347	1.71	126.3	73.7	1.36	84.9	115.1
Q5M775	1.26	0.035822	1.18	108.3	91.7	1.34	85.4	114.6
P31350	1.24	0.035851	1.32	113.9	86.1	1.17	92.1	107.9
Q9Y324	1.22	0.03592	1.29	112.5	87.5	1.15	92.9	107.1
Q9BXB4	1.24	0.036482	1.17	107.8	92.2	1.32	86.2	113.8
P29373	1.23	0.036549	1.16	107.4	92.6	1.3	86.9	113.1
Q08AD1	1.43	0.03817	1.29	112.7	87.3	1.59	77.2	122.8
Q9Y287	1.99	0.0382	2.46	142.2	57.8	1.62	76.5	123.5
Q6DKI1	1.25	0.038312	1.33	114.2	85.8	1.17	92.1	107.9
Q9Y487	1.34	0.038974	1.46	118.8	81.2	1.23	89.6	110.4
Q99543	1.54	0.038991	1.75	127.3	72.7	1.35	84.9	115.1
Q8N6T3	1.46	0.039163	1.63	123.9	76.1	1.3	86.8	113.2
043752	1.25	0.039286	1.34	114.5	85.5	1.17	92	108
Q8N5K1	1.35	0.040842	1.47	119.1	80.9	1.23	89.6	110.4
Q9UBB5	1.21	0.040952	1.15	106.8	93.2	1.29	87.5	112.5
Q9H9L3	1.51	0.041464	1.72	126.4	73.6	1.33	85.7	114.3
Q15276	1.22	0.041902	1.15	106.8	93.2	1.29	87.4	112.6
075312	1.23	0.04243	1.31	113.4	86.6	1.16	92.8	107.2
Q96QC0	1.22	0.043096	1.3	113.1	86.9	1.15	93	107
Q8WWQ0	2.06	0.043768	1.62	123.7	76.3	2.61	55.4	144.6
Q9NZW5	1.7	0.043779	2.01	133.5	66.5	1.43	82.2	117.8
Q8TD30	1.28	0.044476	1.38	115.9	84.1	1.18	91.6	108.4
P40818	1.25	0.044597	1.34	114.4	85.6	1.17	92.4	107.6
Q9UIG0	2.03	0.045774	2.57	144	56	1.6	77	123
P62256	1.27	0.046658	1.38	115.8	84.2	1.18	91.8	108.2

Q13823	1.64	0.046658	1.93	131.6	68.4	1.39	83.6	116.4
Q9UK22	1.26	0.04729	1.17	107.9	92.1	1.36	84.7	115.3
Q9Y6A4	1.28	0.048217	1.18	108.2	91.8	1.38	84	116
P05067	1.23	0.049478	1.31	113.6	86.4	1.15	93.1	106.9
Q9Y666	-1.2	0.000241	0.83	90.7	109.3	0.84	108.9	91.1
Q8N1F7	-1.2	0.004855	0.82	90	110	0.85	108.2	91.8
Q15365	-1.2	0.010051	0.81	89.6	110.4	0.86	107.8	92.2
P31040	-1.2	0.023311	0.8	88.9	111.1	0.87	107.1	92.9
Q8TE02	-1.2	0.000236	0.83	90.6	109.4	0.84	109	91
Q96IZ7	-1.2	0.043326	0.88	93.6	106.4	0.79	112	88
075436	-1.2	0.046261	0.88	93.7	106.3	0.78	112.1	87.9
Q12962	-1.21	0.001442	0.84	91.2	108.8	0.82	109.8	90.2
Q9GZY8	-1.21	0.023202	0.8	88.6	111.4	0.86	107.3	92.7
095239	-1.21	0.037896	0.79	88	112	0.87	106.7	93.3
Q03135	-1.21	0.00805	0.81	89.4	110.6	0.85	108.2	91.8
014964	-1.21	0.031082	0.79	88.2	111.8	0.87	107	93
Q06124	-1.21	0.010051	0.81	89.2	110.8	0.85	108.1	91.9
Q99567	-1.21	0.027194	0.79	88.3	111.7	0.87	107.2	92.8
P49959	-1.21	0.000498	0.82	90.2	109.8	0.83	109.2	90.8
P30837	-1.21	0.001654	0.84	91	109	0.82	110.1	89.9
043663	-1.21	0.044546	0.88	93.4	106.6	0.78	112.5	87.5
075208	-1.21	0.000217	0.82	90.2	109.8	0.83	109.4	90.6
P28065	-1.21	0.006501	0.81	89.3	110.7	0.84	108.5	91.5
Q6PL18	-1.21	0.02102	0.79	88.4	111.6	0.86	107.6	92.4
Q9NRS6	-1.21	0.025268	0.86	92.6	107.4	0.79	111.8	88.2
Q5VW32	-1.21	0.00162	0.82	89.8	110.2	0.83	109.1	90.9
Q96NB3	-1.21	0.038288	0.78	87.6	112.4	0.87	106.9	93.1
P51692	-1.21	0.007566	0.84	91.5	108.5	0.8	110.9	89.1
Q00796	-1.21	0.024768	0.79	88.1	111.9	0.86	107.5	92.5
095630	-1.22	1.31E-05	0.82	90.2	109.8	0.82	109.7	90.3
P34896	-1.22	0.017529	0.85	92.1	107.9	0.79	111.6	88.4
Q9H267	-1.22	0.03592	0.78	87.5	112.5	0.87	107.1	92.9
P36776	-1.22	0.029568	0.86	92.6	107.4	0.78	112.3	87.7
000148	-1.22	0.005063	0.84	91.1	108.9	0.8	110.9	89.1
Q9UK41	-1.22	0.014425	0.79	88.4	111.6	0.85	108.2	91.8
Q96RN5	-1.22	0.015117	0.85	91.8	108.2	0.79	111.7	88.3
Q15006	-1.22	0.000799	0.81	89.6	110.4	0.82	109.6	90.4
Q7Z434	-1.22	0.003185	0.81	89.2	110.8	0.83	109.2	90.8
P42166	-1.22	0.032177	0.78	87.4	112.6	0.86	107.4	92.6
P54725	-1.22	0.002393	0.81	89.2	110.8	0.83	109.4	90.6
Q8IVM0	-1.22	0.008182	0.84	91.2	108.8	0.8	111.4	88.6
015533	-1.23	0.004352	0.83	90.8	109.2	0.8	111.1	88.9
Q7Z2Z2	-1.23	0.027918	0.78	87.4	112.6	0.86	107.7	92.3
P21912	-1.23	0.000297	0.82	90	110	0.81	110.5	89.5
043708	-1.23	0.001437	0.82	90.3	109.7	0.81	110.8	89.2
Q8IX01	-1.23	0.032683	0.86	92.4	107.6	0.77	113	87
PODMNO	-1.23	0.009671	0.79	88.2	111.8	0.84	108.9	91.1
Q9BSJ2	-1.23	0.01247	0.84	91.3	108.7	0.79	112	88
P28340	-1.23	0.019056	0.78	87.6	112.4	0.85	108.3	91.7

Q9UBB9	-1.23	0.00166	0.8	89	111	0.82	109.8	90.2
P29353	-1.23	0.007722	0.79	88.3	111.7	0.83	109.1	90.9
000264	-1.23	0.000103	0.81	89.7	110.3	0.81	110.6	89.4
P56378	-1.23	0.001132	0.8	89	111	0.82	110	90
043824	-1.23	0.001629	0.8	88.9	111.1	0.82	109.9	90.1
Q9HB07	-1.24	0.034605	0.76	86.6	113.4	0.86	107.7	92.3
P26885	-1.24	0.007437	0.79	88.1	111.9	0.83	109.3	90.7
P20020	-1.24	0.008609	0.79	88	112	0.83	109.2	90.8
P36404	-1.24	0.038647	0.86	92.4	107.6	0.76	113.7	86.3
Q9NWZ3	-1.24	0.019419	0.84	91.4	108.6	0.77	112.9	87.1
Q16698	-1.24	0.025001	0.77	86.8	113.2	0.85	108.3	91.7
043819	-1.24	0.045283	0.75	85.9	114.1	0.86	107.4	92.6
Q9C0B1	-1.24	0.025761	0.85	91.7	108.3	0.76	113.3	86.7
P07203	-1.25	0.030903	0.76	86.2	113.8	0.85	108.2	91.8
Q15631	-1.25	1.02E-05	0.8	88.9	111.1	0.8	111	89
Q9Y2Q3	-1.25	0.047927	0.86	92.5	107.5	0.75	114.6	85.4
P18846	-1.25	0.001013	0.81	89.4	110.6	0.79	111.6	88.4
Q9NVE7	-1.25	0.046288	0.75	85.4	114.6	0.86	107.6	92.4
Q96ES7	-1.25	0.031149	0.75	86	114	0.85	108.3	91.7
Q9Y296	-1.25	0.003962	0.78	87.8	112.2	0.82	110.2	89.8
Q9UPQ0	-1.25	0.00885	0.77	87.3	112.7	0.82	109.7	90.3
Q9C0B5	-1.25	0.000247	0.79	88.5	111.5	0.8	111	89
015357	-1.26	0.000242	0.8	88.9	111.1	0.79	111.6	88.4
014980	-1.26	0.015923	0.83	90.7	109.3	0.76	113.4	86.6
Q5R3I4	-1.26	0.040904	0.74	85.3	114.7	0.85	108	92
Q0ZGT2	-1.26	0.045595	0.74	85.1	114.9	0.85	107.8	92.2
Q8N3D4	-1.26	0.032925	0.75	85.6	114.4	0.85	108.4	91.6
Q93096	-1.26	0.04404	0.74	85.1	114.9	0.85	107.9	92.1
094763	-1.26	0.027651	0.75	85.8	114.2	0.84	108.7	91.3
P16949	-1.26	0.004544	0.81	89.6	110.4	0.78	112.6	87.4
Q969Z0	-1.26	0.048058	0.86	92.2	107.8	0.74	115.2	84.8
Q9NSE4	-1.26	0.000234	0.8	88.7	111.3	0.79	111.8	88.2
Q9NUM3	-1.26	0.008885	0.77	86.9	113.1	0.82	110	90
P41240	-1.26	0.006221	0.81	89.7	110.3	0.77	112.9	87.1
P21333	-1.26	0.002066	0.8	89.1	110.9	0.78	112.4	87.6
P41214	-1.26	0.018144	0.76	86.1	113.9	0.83	109.4	90.6
Q96ER9	-1.27	0.048139	0.85	92	108	0.73	115.6	84.4
Q8IZ73	-1.27	0.003198	0.77	87.2	112.8	0.8	110.9	89.1
Q6P3X3	-1.27	0.027725	0.74	85.3	114.7	0.84	109	91
Q96CU9	-1.28	0.024003	0.83	90.6	109.4	0.74	114.8	85.2
P04150	-1.28	0.001428	0.79	88.5	111.5	0.77	112.8	87.2
P33527	-1.28	0.000408	0.79	88.1	111.9	0.78	112.6	87.4
Q8WUB8	-1.28	0.013715	0.81	89.8	110.2	0.75	114.3	85.7
P68402	-1.28	0.013715	0.82	89.8	110.2	0.75	114.3	85.7
Q8IY17	-1.28	0.007784	0.76	86.1	113.9	0.81	110.8	89.2
Q96H79	-1.28	0.013498	0.75	85.6	114.4	0.81	110.3	89.7
075369	-1.28	0.005451	0.8	88.9	111.1	0.76	113.7	86.3
Q8IZ69	-1.28	0.015941	0.74	85.3	114.7	0.82	110.2	89.8
Q16822	-1.29	0.003185	0.76	86.5	113.5	0.79	111.5	88.5

Q7Z7H5	-1.29	0.023176	0.74	84.7	115.3	0.82	109.8	90.2
Q01082	-1.29	0.000195	0.78	87.6	112.4	0.77	112.9	87.1
Q15043	-1.29	0.000632	0.77	86.9	113.1	0.78	112.2	87.8
Q9H9B1	-1.29	0.019719	0.82	89.9	110.1	0.74	115.2	84.8
Q96CP2	-1.29	0.001516	0.79	88	112	0.76	113.4	86.6
Q9Y490	-1.29	0.002502	0.76	86.4	113.6	0.79	111.8	88.2
060831	-1.29	0.036645	0.72	83.7	116.3	0.83	109.2	90.8
Q9P086	-1.29	0.028097	0.73	84.1	115.9	0.82	109.7	90.3
000291	-1.3	0.048396	0.71	83	117	0.84	108.7	91.3
Q13085	-1.3	0.00027	0.77	86.8	113.2	0.78	112.6	87.4
075376	-1.3	0.023638	0.72	84	116	0.81	110.2	89.8
P23743	-1.3	0.000874	0.76	86.3	113.7	0.78	112.6	87.4
P49757	-1.3	0.005577	0.75	85.4	114.6	0.79	111.8	88.2
043493	-1.31	0.000178	0.77	87	113	0.76	113.5	86.5
095613	-1.31	0.007159	0.79	88.3	111.7	0.74	114.9	85.1
A9UHW6	-1.31	0.024508	0.81	89.7	110.3	0.72	116.3	83.7
Q9Y657	-1.31	0.044376	0.7	82.6	117.4	0.83	109.2	90.8
Q07960	-1.31	0.001751	0.77	87.3	112.7	0.75	114.3	85.7
Q8IXM2	-1.31	0.041202	0.7	82.5	117.5	0.83	109.5	90.5
Q00653	-1.31	0.00017	0.76	86.2	113.8	0.77	113.3	86.7
Q9HA77	-1.31	0.013508	0.73	84.2	115.8	0.8	111.3	88.7
Q9P2T1	-1.31	0.002692	0.78	87.4	112.6	0.75	114.6	85.4
Q9H845	-1.32	0.029857	0.81	89.8	110.2	0.71	117	83
000458	-1.32	0.017006	0.72	83.8	116.2	0.8	111.1	88.9
015235	-1.32	0.00893	0.73	84.4	115.6	0.79	111.9	88.1
09NRM1	-1.32	5.86E-05	0.76	86.3	113.7	0.75	114	86
P49588	-1.32	0.018348	0.72	83.4	116.6	0.8	111.2	88.8
Q02388	-1.32	0.032567	0.81	89.7	110.3	0.7	117.6	82.4
Q9BYT8	-1.33	0.006467	0.73	84.4	115.6	0.78	112.4	87.6
Q69YN2	-1.33	0.013228	0.72	83.7	116.3	0.79	111.7	88.3
Q9Y4U1	-1.33	0.030059	0.81	89.4	110.6	0.7	117.7	82.3
Q9H3H3	-1.33	0.033991	0.81	89.6	110.4	0.7	118	82
043294	-1.33	0.000301	0.76	86.1	113.9	0.75	114.6	85.4
Q9Y315	-1.33	0.006992	0.72	84	116	0.78	112.6	87.4
060671	-1.33	0.009639	0.72	83.7	116.3	0.78	112.3	87.7
Q99541	-1.33	0.030258	0.81	89.3	110.7	0.7	117.9	82.1
Q96DC8	-1.34	0.005382	0.77	87.1	112.9	0.73	115.9	84.1
Q9HAV4	-1.34	0.02102	0.7	82.6	117.4	0.8	111.4	88.6
095208	-1.34	0.002594	0.73	84.4	115.6	0.76	113.5	86.5
Q02252	-1.34	0.00367	0.77	86.7	113.3	0.73	115.8	84.2
095571	-1.34	0.037859	0.81	89.5	110.5	0.68	118.8	81.2
Q8N201	-1.35	0.004733	0.76	86.6	113.4	0.72	116.3	83.7
Q96RQ3	-1.35	9.01E-05	0.74	85.3	114.7	0.74	115.1	84.9
P25325	-1.35	0.000447	0.75	85.4	114.6	0.73	115.5	84.5
Q15021	-1.36	0.031773	0.8	88.8	111.2	0.68	119	81
Q9UPN3	-1.36	0.026041	0.79	88.3	111.7	0.68	118.8	81.2
060437	-1.36	0.007623	0.71	82.8	117.2	0.76	113.4	86.6
P19838	-1.36	0.034658	0.8	88.8	111.2	0.67	119.5	80.5
Q9NVA1	-1.36	0.006762	0.71	82.8	117.2	0.76	113.6	86.4

P41252	-1.37	0.00465	0.76	86	114	0.71	117	83
Q9H3S7	-1.37	0.002272	0.75	85.5	114.5	0.72	116.6	83.4
Q15149	-1.37	0.009798	0.76	86.6	113.4	0.7	117.8	82.2
075381	-1.37	0.004211	0.71	82.8	117.2	0.75	114.3	85.7
Q09666	-1.38	0.000244	0.72	83.8	116.2	0.73	115.5	84.5
Q8TD19	-1.38	0.029323	0.67	80.1	119.9	0.79	112	88
000170	-1.39	0.002081	0.74	84.8	115.2	0.71	117.3	82.7
Q5BKU9	-1.4	0.044656	0.64	78.2	121.8	0.79	111.5	88.5
Q8TEM1	-1.4	0.001449	0.73	84.2	115.8	0.7	117.6	82.4
Q96HY7	-1.41	0.009134	0.74	85.4	114.6	0.68	119.2	80.8
Q12768	-1.41	0.015393	0.67	80.1	119.9	0.76	113.9	86.1
Q8TB61	-1.41	0.013142	0.67	80.1	119.9	0.75	114.3	85.7
Q9BW92	-1.42	6.68E-05	0.71	82.9	117.1	0.7	117.5	82.5
Q86UV5	-1.42	0.009824	0.74	85.1	114.9	0.67	119.8	80.2
Q9UK61	-1.42	0.025892	0.65	78.5	121.5	0.76	113.4	86.6
Q9UBY9	-1.43	0.006116	0.73	84.4	115.6	0.67	119.5	80.5
P42229	-1.43	0.000891	0.71	83	117	0.69	118.5	81.5
Q9H467	-1.43	0.003791	0.68	80.7	119.3	0.72	116.2	83.8
Q5PRF9	-1.44	6.24E-05	0.69	81.9	118.1	0.7	117.7	82.3
Q8IV48	-1.44	0.00025	0.7	82.5	117.5	0.69	118.3	81.7
075909	-1.44	0.033765	0.63	77.2	122.8	0.77	113.2	86.8
Q6PI98	-1.45	0.038476	0.62	76.6	123.4	0.77	113	87
Q68CP9	-1.45	0.005856	0.72	83.6	116.4	0.66	120.4	79.6
P98082	-1.45	0.015705	0.64	78.3	121.7	0.74	115.1	84.9
043674	-1.47	0.006116	0.71	83.2	116.8	0.65	121	79
Q9BSY4	-1.47	0.042174	0.77	86.7	113.3	0.6	124.7	75.3
060503	-1.49	0.045174	0.76	86.5	113.5	0.59	125.7	74.3
Q92797	-1.49	0.001042	0.68	81.2	118.8	0.66	120.6	79.4
Q15059	-1.49	0.03729	0.6	74.7	125.3	0.75	114.2	85.8
Q8WX92	-1.5	0.023356	0.73	84.4	115.6	0.61	124.4	75.6
Q9BQP7	-1.5	0.001625	0.68	81	119	0.65	121.3	78.7
Q9BQS8	-1.51	4.90E-05	0.67	80	120	0.66	120.4	79.6
Q03001	-1.53	0.01182	0.7	82.3	117.7	0.61	124.2	75.8
Q7Z6Z7	-1.53	0.012428	0.7	82.3	117.7	0.61	124.4	75.6
Q6P9B6	-1.55	0.000784	0.64	77.7	122.3	0.66	120.6	79.4
095747	-1.56	0.018561	0.59	74	126	0.7	117.5	82.5
Q6UWP7	-1.56	0.007583	0.68	80.9	119.1	0.61	124.5	75.5
Q96BJ3	-1.56	0.021546	0.71	82.8	117.2	0.58	126.4	73.6
Q99798	-1.56	0.003361	0.62	76.3	123.7	0.67	120.1	79.9
Q9NQH7	-1.58	0.009963	0.68	80.7	119.3	0.59	125.7	74.3
Q96BW5	-1.6	0.007788	0.59	74	126	0.66	120.2	79.8
Q6WCQ1	-1.61	0.001553	0.64	78	122	0.61	124.6	75.4
Q68CZ2	-1.63	0.010301	0.57	72.7	127.3	0.66	120.4	79.6
Q53EL6	-1.63	0.003119	0.59	74.1	125.9	0.64	122.1	77.9
Q15172	-1.64	0.007046	0.57	72.8	127.2	0.65	121.4	78.6
015438	-1.65	0.009569	0.57	72.2	127.8	0.65	121	79
Q9NVM9	-1.66	0.027152	0.68	81.1	118.9	0.53	130.7	69.3
095155	-1.66	0.027489	0.68	81.1	118.9	0.53	130.8	69.2
Q9Y530	-1.7	7.40E-06	0.59	74.1	125.9	0.59	126.1	73.9

098024	-1 72	0.000351	0.57	72 9	1271	0 59	125 7	74 3
Q3DQ24	-1.12	0.000331	0.57	12.5	121.1	0.55	120.1	74.5
095260	-1.73	0.002504	0.55	71.3	128.7	0.6	124.9	75.1
095466	-1.74	0.003582	0.6	75.2	124.8	0.55	129.4	70.6
P50748	-1.77	0.04497	0.47	63.7	136.3	0.68	119.1	80.9
P55061	-1.8	6.16E-06	0.56	71.6	128.4	0.56	128.6	71.4
Q01664	-1.86	0.032091	0.45	62.4	137.6	0.64	122.1	77.9
Q92625	-2.05	0.018766	0.42	58.9	141.1	0.57	127.6	72.4
Q96I59	-2.06	0.006293	0.44	61.5	138.5	0.53	130.7	69.3
Q9NVD7	-2.2	0.020758	0.38	55.1	144.9	0.55	129.5	70.5
Q2NKX8	-2.33	0.015017	0.37	53.4	146.6	0.51	132.7	67.3
Q9NXF7	-2.67	0.003772	0.34	50.7	149.3	0.42	141.4	58.6
Q92896	-3.01	0.038106	0.23	37.2	162.8	0.48	135	65
015020	-3.09	0.049976	0.21	34.5	165.5	0.5	133.1	66.9
Q9Y2F5	-8	0.035959	0.05	9.3	190.7	0.32	151.5	48.5

^eFC: Fold change; ^bF-FC: Forward labeling: (Light, shikinon)/(Heavy, Control); ^cF-L: Forward labeling: Light, Shikinon; ^dF-H: Forward labeling: Heavy, Control; ^eR-FC: Reverse labeling: (Heavy, shikinon)/(Light, Control); ^fR-L: Reverse labeling: Light, Control; ^gR-H: Reverse labeling: Heavy, Shikinon.